
 

Question: 1 
   
The ECS network solution for an organization is designed to have 4x10bE uplinks connected to both 
Cisco switches. The organization will create the needed port channels. 
 What additional configuration on Cisco switches is recommended for high availability and redundancy? 
 
A. Ring topology 
B. Dedicated VLANs 
C. Spanning tree protocol 
D. Virtual port channel 
 

Answer: B     
 

Question: 2 
   
When a disk state is suspect, what are the allowable options? 
 
A. Read  
B. Write 
C. Read and write 
D. No operations allows 
 

Answer: A     
 

Question: 3  
   
DRAG DROP 
What is the correct order steps in the ECS software installation process? 

 
 

Answer:   
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Question: 4 
 
Which ECS array license file enables data services for storage management? 
 
A. ViPR Commodity 
B. ViPR HDFS 
C. ViPR Unstructured 
D. ViPR ECS 
 

Answer: C 
 

Question: 5 
 
Which command is use to install the ECS software package? 
A) 

 
B) 

 
C) 

 
D) 

 
 
A. Option 
B. Option 
C. Option 
D. Option 
 

Answer: C     
 

Question: 6 
   
The ECS is not PXE-booting nodes 2 through 8. Which command should be run to check PXE boot status? 
A) 
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B) 

 
C) 

 
D) 

 
 
A. Option 
B. Option 
C. Option 
D. Option 
 

Answer: D     
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